S TR Dt
HB: OLEEH HLHUTHIIE PE(SDENLOHF /T - DI

ool TR 22lsH st (e &8)
2N - FH - o9 (3H) - NEANY - BES Off &4 = Blusz

THih e TH 3t 146,852,869 140,741,553 6,111,316

= 121,413, 164 115,525,518 5,887,646

= 25,439,705 25,216,035 223,670

OREBH TLHID I8 PEH(ZTE ML/ T - ol 40,176,718 35,211,002 4,965,716

221)

2 35,251,388 30,563,742 4,687,646

= 4,925,330 4,647,260 278,070

T 22153 23 1,118,580 855,380 263,200

2 372,842 373,742 A900

= 745,738 481,633 264,100

oNSsEE 28 23 65.800 40,800 25,000

308 XHXIEHHISOI® 37,000 12,000 25,000

01 MXESHBHRES 37,000 2,000 25,000

ONHEHBS AESD NS 25,000 0 25,000

WIS eter= 22 (21) 58,000 59,800 A1,800

= 29,000 29,900 A900

= 29,000 29,900 A900

308 XHXIHHIS0I & 58,000 59,800 A1,800

2 29,000 29,900 A900

H 20,000 29,900 A900

01 RXESHBHRRS 58,000 59,800 A1,800

ONHIIE orEea 2 X 58,000 59,800 A1,800

= 29,000 29,900 A900

= 29,000 29,900 £900

HEms =7 2 Mgy X 240,000 0 240,000

403 RXISHHSKHZOIE 240,000 0 240,000

01 RXISHR=LE 240,000 0 240,000

onEmH =7 ¥ ML X 240,000 0 240,000

THOHAFRICHHI S 2 23t 30,058, 138 34,355,622 4,702,516

2 34,878,546 30, 190,000 4,688,546

= 4,179,592 4,165,622 13,970

Z4olEE J1Y N/(FIHEBILY) 51,192 37,222 13,970

308 XHXISHHI SO & 51,192 37,222 13,970

01 RXESHBHRRS 51,192 37,222 13,970

OB+t JAX 51,192 37,222 13,970

Z2s =2(18)(20) 186,200 0 186,200

2 186,200 0 186,200

403 XHXIEHISKHOIE 186,200 0 186,200

2 186,200 0 186,200

01 RXISHTEER 186,200 0 186,200

o138 LW =R(HXRS 186,200 0 186,200

2 186,200 0 186,200
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FA:
K| XH -
(= T

SEE

KH 2 TH 10

OIFEH TYLITYIIE DH(BBEMUOHE /T - 1S

SN - FE . SR(SI) - NRAY - BYS Ofl &k o8 p[E-L" Bz
I =728 MHXE2)(2D) 3,687,600 0 3,687,600
= 3,687,600 0 3,687,600
403 XX SKHZOIH 3,687,600 0 3,687,600
= 3,687,600 0 3,687,600
01 RXISHHIXEEX 3,687,600 0 3,687,600
028 HELH=ST(HHES) 3,687,600 0 3,687,600
= 3,687,600 0 3,687,600
HEms =728 ZBAL)(2D) 814,746 0 814,746
= 814,746 0 814,746
403 REXISHHISKHZOIH 814,746 0 814,746
2 814,746 0 814,746
01 RXISHHIXI=Z2X 814,746 0 814,746
©28 &I =7 (BBAIE) 814,746 0 814,746
= 814,746 0 814,746
;=>+EXH6H01|%* Y HBFEHIS KR (FELX L/ + T 101,264,376 100, 118,776 1,145,600
= 86,161,776 84,961,776 1,200,000
= 15,102,600 15, 157,000 54,400
FEE I 100,972,976 99,827,376 1,145,600
= 85,911,776 84,711,776 1,200,000
= 15,061,200 15, 115,600 54,400
SIESS XL 1,208,200 1,188,200 20,000
201 Yereg| 39,000 19,000 20,000
01 A2l 39,000 19,000 20,000
OBIHYE M= 20,000 0 20,000
SHE THaHOI (2 1) 53,533,000 52,407,400 1,125,600
2 41,680,000 40,480,000 1,200,000
= 11,853,000 11,927,400 AT4,400
401 AL 20,400,000 20,400,000 0
=2 12,240,000 12,240,000 0
= 8,160,000 8. 160,000 0
01 Al 19,877,000 19,977,000 100,000
OB+ HaHolE 19,877,000 19,977,000 £100,000
2 11,954,000 12,014,000 £60,000
= 7,923,000 7,963,000 240,000
02 22| 477,000 377,000 100,000
OBk HoholE 477,000 377,000 100,000
= 286,000 226,000 60,000
= 191,000 151,000 40,000
403 XIS SKHZOIH 33,133,000 32,007,400 1,125,600
= 29,440,000 28,240,000 1,200,000
= 3,693,000 3,767,400 A74,400
01 RXISHZEX 33,133,000 32,007,400 1,125,600
OBk ool 33,133,000 32,007,400 1,125,600
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S THEFEEE

o SHETHOHOIY X BFHXY N (FEXXHNL/SXE)
SHol: GHEE WA
SH -2 . 2(3H) - MBAS - HES Olf &4 I8
= 29,440,000 28,240,000
= 3,693,000 3,767,400
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